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Are your answers the same as the ones below? 

  M HTh TTh Th H T U 
         

1. Two hundred and four     2 0 4 

         

2. One thousand    1 0 0 0 

         

3. Six thousand five hundred and six    6 5 0 6 

         

4. Two thousand and nine    2 0 0 9 

         

5. Forty five thousand   4 5 0 0 0 
         

6. Sixty four thousand and twenty nine   6 4 0 2 9 

         

7. One hundred thousand  1 0 0 0 0 0 

         

8. Two hundred and six thousand  2 0 6 0 0 0 

         

9. Six hundred and nineteen thousand  6 1 9 0 0 0 

         

10. Seventy four thousand six hundred and four   7 4 6 0 4 

         

11. One hundred and nineteen thousand  1 1 9 0 0 0 

         

12. Nine hundred and nine thousand six hundred and two  9 0 9 6 0 2 

         

13. One million 1 0 0 0 0 0 0 

 


